
fyit kw;Wk; tpisT Kud;fs;  
 
fpuaj;ij fl;Lg;gLj;jyhdJ fpua fzf;fPl;bd; kpf Kf;fpakhd xU Nehf;fkhFk;. epakq;fis epWTjy; 
kw;Wk; mjid cz;ik fpuaj;Jld; xg;gpLtjd; %yk; fpuaj;jpid fl;Lg;gLj;j KbAk;. 
 

epak fpua KwikahdJ gpd;tUk; ,ay;Gfis nfhz;Ls;s fk;gdpfSf;F kpfTk; nghUj;jkhdjhf mikAk;, 

 nghJthd njhlh; eltbf;iffs; kw;Wk; 

 ,ay;gpy; kPz;nlOk; eltbf;iffis nfhz;bUj;jy; 
 

epakf; fpuak; vd;why; vd;d? 
epakf; fpuakhdJ Kd; $l;bNa jPu;khdpf;fg;gl;lJk; tpidj;jpwdhd Ntiyr;R+oypy; Vw;glf;$ba fpuakhFk;  
 
epakf; fpuakply; vd;why; vd;d ? 
epakf; fpuakply; vd;gJ xU El;gkhFk;. ,J nghUl;fs; kw;Wk; Nritfspd; fpuaj;Jf;fhf Kd;dNu 

jPu;khdpf;fg;gl;l kjPg;gPLfis epWtJld; ,ilntspapid or NtWghl;bid fz;Lgpbg;gjw;fhf cz;ikahf 
Vw;gl;l fpuaj;Jld; xg;gpLtNjhL mj;jifa NtWghl;bid fl;Lg;gLj;j Njitahd eltbf;if vLj;jhYkhFk;. 
 
Kuz; gFg;gha;tpd; gpujhd Nehf;fk;  
epak epiyf;F Fiwthd nray;jpwdpy; cs;s fhuzpfis fz;lwptNj Kuz; gFg;gha;tpd; gpujhd 

Nehf;fkhFk;. ,jd; %yk; KfhikahdJ tsq;fis rupahd Kiwapy; gad;gLj;j or Nkk;gLj;j 
eltbf;iffis vLf;f KbAk;. 
 
1.0. Neu;g;nghUs; fpuakhdJ cw;gj;jp fpuaj;jpd; xU gpujhd fpuakhFk;. cw;gj;jp fpuak; cs;slf;Fgit: 

 Neu;nghUs; fpuak; 

 Neu; $ypf;fpuak; 

 khWk; Nke;jiyf;fpuak; 

 epiyahd Nke;jiyf;fpuak; 
 

vdNt epakf; fpuaj;jpypUe;J cz;ikf;fpuaj;jpd; NtWghL gFg;gha;T nra;ag;gly; Ntz;Lk;. Vnddpy; ,t; 

NtWghL ,yhg Kuz;fspy; jhf;fj;ij Vw;gLj;Jk; (,yf;F or epakf;fpuakhdJ tpidj;jpwdhd 
Ntiyr;R+oypy; Vw;gly; Ntz;Lk;.)       

cz;ikahd Neu;g;nghUl;fpuak;        Neu;g; nghUs; fpuak 
1.1 ;     

epakf; Neu;nghUl; fpuak; 
 

cz;ikahd Neu;nghUl; fpuak; vd;gJ Fwpj;j Neu;g;nghUis re;ijapy; thq;Ftjw;F Vw;gl;l fpuakhFk;. 

(E.g 1) nfhs;tdT – 11,000 kg Neu;g;nghUs; y @ 55 &gh per kg vdNt Neu;g;nghUs; fpuak;  

605, 000/- = (11,000x &55) 
epak Neu;g;nghUl; fpuak; vd;gJ cz;ikahd cw;gj;jp myFfspd; Neu;g;nghUs; epakf;fpuakhFk;. 

(E.g 2)k vDk; cw;gj;jp nghUSf;fhd Neu;g;nghUs; epakf;fpuak; 3 kg %yg;nghUs;  

y(01 kg  %yg;nghUs ;y 50/= MFk;) ngg;utup khjj;Jf;fhd cz;ikahd cw;gj;jp myF 5,000 myF k vdpd; 

cz;ikahd cw;gj;jpf;fhd Neu;g;nghUs; epakf;fpuak; &gh 750,000 MFk;. &gh(150 x 5,000 myFfs;) 
 

(E.g 3) khu;r; khj fhyg;gFjpf;fhd cz;ikahd cw;gj;jp myFfs; 8,000 k vdpd; cz;ikahd 

cw;gj;jpf;fhd Neu;g;nghUs; epakf;fpuak; &gh 1,200,000/- MFk;.&gh(150* 8,000) 

1.2 Neu;g;nghUs;fpua Kud; 

Vw;gl;l cz;ikahd Neu;g;nghUs; fpuaj;Jf;Fk; cz;ikahd cw;gj;jp myFf;fhd Neh;nghUs; epakf; 
fpuaj;jpw;Fk; ,ilapyhd NtWghL Neh;nghUs; fpua Kuz; MFk;. 

MfNt (E.g 1) d; gb cz;ikahd Neu;nghUs; fpuak; &gh 605,000 MFk;. (11,000 x  &gh 55/-)NkYk; ,J xU 
rhjfkhd epyik MFk;. Vnddpy; ,J cz;ikahd cw;gj;jp myFf;fhd epakf;fpuaj;ij tpl FiwthFk;. 

 

 

 



 

(E.g 2) d; gb cz;ikahd cw;gj;jpf;fhd epak nghUs; fpuak; &gh 750, 000 MFk; (&150 x 5,000 myFfs;) 

MfNt,  

Neu;nghUs; fpuaKud; = cz;ikahd cw;gj;jp – cz;ikahd myFf;fhd(Vw;gl;l) epak Neu;nghUs; fpuak; 

= 750,000–605,000 

= 145,000 rhjfk;(F) 
 

Neu;nghUs; fpua Kuz;fs; 
Neu;g;nghUs; fpua Kuz; 02 gpujhd fhuzq;fspdhy; Vw;glyhk;. 

 Neu;nghUs; tpiy mjpfupg;G / FiwT MfNt Neu;g;nghUs; tpiyKuz; rhjfkhf/ghjfkhf 
mikayhk;. 

 Neu;nghUs; ghtid mjpfupg;G /FiwT MfNt Neu;nghUs; ghtid Kuz; rhjfkhf /ghjfkhf 
mikayhk;. 

xU cw;gj;jp nghUis jahupf;f ,uz;L or mjw;F Nkw;gl;l %yg;nghUs; gad;gLj;Jk; NghJ Neu; nghUs; 
fyit Kuz;; vDk; El;gk; mwpKfg;gLj;jg;gLtNjhL mit gpd;tUkhW tifg;gLj;jg;gLk; 

 Neu; nghUs; fyit Kuz; 

 Neu; nghUs; tpisT Kuz; 
 

 
Neu;g;nghUs; fpua Kuz; 

 

 

 Neu;g;nghUs; tpiyKuz;   Neu;nghUs; ghtid Kud; 

 

 

    Neu;nghUs; fyit Kuz;    Neu;nghUs; tpisT Kuz;    
2.4 Neu;nghUs; fpua KuZf;fhd R+j;jpuq;fs; 
 

 Neu;nghUs; fpua Kuz; = cz;ikahd cw;gj;jpf;fhd – cz;ikahd Neu;nghUs; epakf;fpuak;     
Neu;nghUs; fpuak; 

          

 Neu;nghUs; tpiy Kuz; = cz;ikahd Neu;nghUs; nfhs;tdT    epaktpiy – cz;iktpiy 
 
 Neu;nghUs; ghtid Kuz;= epak tpiy cz;ikahd cw;gj;jpf;fhd -  cz;ikahd ghtid 

                            epak ghtid    

 

(a) Neu;nghUs; fyit Kuz;= epak tpiy cz;ikahd nkhj;j nghUs; - cz;ikahd nkhj;j nghUs; 
    ghtid                     ghtid 

x             x 
   epakfyit             cz;ikfyit 

 
 

(b) Neu;nghUs; tpisT Kuz; = epak tpiy   epak nkhj;j   - cz;ikahd nkhj;j  
   nghUs; ghtid     nghUs; ghtid     

                                                                                                                     x                                         x 

                            epakfyit          epakfyit 

 

 

 

 



tpdh 01 

gpd;tUk; jfty;fs; [dtup khjj;Jf;FupajhFk; 

x vDk; cw;gj;jp nghUs; xd;Wf;fhd  epak Neu;nghUs; fpuak; = 1kg  , 130/- gb  2kg  - &gh 260/- 
[dtup khjj;Jf;fhd cz;ikahd cw;gj;jp               =  48,000 myFfs; 
cz;ikahd %yg;nghUs; nfhs;tdT                    =  100,000 kg @ &gh 120/- 
 
gpd;tUk; Kuz;fis fzpf;Ff 

(a) Neu;nghUs; (DM) tpiy Kud; 

(b) Neu;nghUs; (DM) ghtid Kud; 

(c) Neu;nghUs; fpua Kuz; 

tpil 

(a) Neu; nghUs; tpiy Kuz; = cz;ikahd Neu;nghUs;  epak tpiy –  cz;ikahd tpiy 
     nfhs;tdT 

    =100,000kg (130-120) 

          =1,000,000 rhjfk;(F) 
cz;ikahd tpiy epak tpiyia tpl Fiwthifahy; Neh;g;nghUs; tpiy Kuz; rhjfkhFk;. 

(B) Neu;nghUs; ghtid Kuz; = epak tpiy cz;ikahd cw;gj;jpf;fhd –  cz;ikahdghtid 
         epak ghtid    
   

  = 130 (48,000 x 2 kg – 100,000) 

   = 520, 000 ghjfk; (A) 
cz;ikahd ghtid epak ghtidia tpl mjpfkhifahy; Neu; nghUs; ghtid Kuz; ghjfkhFk;. 

(C)   Neu;nghUs; fpua Kuz;       = 1,000,000 (F)   +  520,000 (A) 

      =  480,000 (F) 

OR 

        = cz;ikahd cw;gj;jpf;fhd –  cz;ikahf 
          epak Neu; nghUs; fpuak;     Vw;gl;l Neu;nghUs; fpuak; 

         = (48,000 x 260) – (100,000 x 120) 

         = 12,480,000 – 12,000,000 

          = 480,000 (F) 
 
tpdh 02. 
 
‘G” cw;gj;jp nghUSf;fhd epak fpua ml;ilapd; jfty;fs; gpz;tUkhW: 
 
   Neh; nghUs; A 2kg @ &gh 40/= 
   Neh; nghUs;B  3kg @ &gh 20/= 
 
[Piy khjj;Jfhd cz;ikj;juTfs; fPo;tUkhW: 
 
Neh; nghUs; A 15,000 kg @ &gh 41/= 
Neh; nghUs; B 9,000 kg @ &gh 18/= 
 
[Piy khj;jJfhd cz;ikahd  cw;gj;jp myFfs; - 5,000 myFfs; 
 
fzpf;F B> 
 

1. Neh; nghUs; tpiy Kuz; 
2. Neh; nghUs fyit Kuz; 
3. Neh; nghUs; tpisT Kuz; 
4. Neh; nghUs ghtid Kuz; 
5. Neh; nghUs; fpua Kuz; 

 
 
 
 
 
 
 
 



tpil;  
 

1. Neh;; nghUs; tpiy Kuz; = cz;ik myF ( epak tpiy – cz;ik tpiy) 
A = 15,000 (40 - 41)                                             = 15,000 A 

                                                 B = 9,000 (20 – 18)                                             = 18,000 F 
Neh; nghUs; tpiy Kuz;            =3,000 F 

 
2. Neh; nghUs; fyit Kuz; = epak tpiy  cz;ikahd        cz;ikahd  

                                  Neh;nghUs; ghtid - Neh;nghUs; ghtid 
X                              X 

   epak fyit       cz;ik fyit 
 

A     = 40 (24,000 x 2/5 - 24,000 x 15,000/24,000) 
         = 40 (9,600 – 15,000) 
         = 216,000 (A) 
 
  B     = 20 (24,000 x3/5 – 24,000 x9,000/24,000) 
         = 20 (14,400 – 9,000) 
                                                                        = 108,000 (F) 
MfNt, Neh;nghUs; fyit Kuz;  = 216,000 (A) + 108,000 (F) 
                                                                        = 108,000 (A) 
 
nkhj;j epak ghtid =   (5,000 x 2) + (5,000 x 3) = 25,000 
 

3. Neh;nghUs; tpisTKud; =  epaktpiy epak nkhj;jnghUs; ghtid - cz;ikahd nkhj;jnghUs; ghtid 
x                                                              x 

  epak fyit              epak fyit 
 

A. = 40 (25,000 x 2/5  - 24,000 x 2/5) 
= 16,000 (F) 

B. = 20 (25,000 x 3/5 – 24,000 x 3/5) 
=12,000 (F) 
 
MfNt Neh;nghUs; tpisT Kuz; = 16,000 (F) + 12,000 (F) 

             = 28,000 (F) 
 
4. Neh;nghUs; ghtid Kuz; = Neh;nghUs; fyit Kuz; + Neh;nghUs; tpisT Kuz; 

       = 108,000 A +28,000(F) 
                                                                                         = 80,000 (A) 
 
5. Neh;nghUs; fpua Kuz; = Neh;nghUs; tpiyKuz;  + Neh;nghUs; ghtidKuz; 

         = 3,000(F) + 80,000(A) 
         = 77,000(A)  

 
tpw;gid vy;iy Kuz;fs; 
 
ghjplg;gl;l ,yhgk; cz;ikahd ,yhgj;jpw;Fkhd NtWghL tpw;gid vy;iy KuzhFk; MfNt>tpw;gid 
vy;iy Kuz; =ghjplg;gl;l (epak vy;iy); - cz;ikahd ,yhgk;  
 

 ghjplg;gl;l ,yhgk; = ghjplg;gl;l epak tpw;gid – ghjplg;gl;l/ epak fpuak; 

 Mdhy;> cz;ikahd ,yhgk; = cz;ikahd tpw;gid – ghjplg;gl;l or epak fpuak; 
 

cz;dkahd ,yhgk; or vy;iy> ghjplg;gl;l,yhgk; or vy;iyia tpl mjpkhf ,Uf;Fk; NghJ> tpw;gid 
vy;iy Kuz; rhjfkhFk; (F) 
 
tpw;gid vy;iy tpiy Kuz; =  cz;ikahd tpw;gid myF x (epak vy;iy – cz;iik vy;iy) 
 
tpw;gid vy;iy fztsT Kuz; =  xU myFf;fhd ghjplg;gl;l ,yhgk; cz;ik - ghjplg;gl;l 

tpw;gid  tpw;gid  
myFfs;  myFfs; 

 
 

 

 



nkhj;j tpw;gid vy;iy Kuz; 

 

 tpw;gid vy;iy tpiy Kuz;         tpw;gid vy;iy fdtsT Kuz; 

 

   tpw;gidvy;iy fdtsT Kuz; tpw;gid vy;iy fyit Kud;  
 

tpdhf;fSf;Fk; tpilfSk;  

tpdh 01 

gpd;tUk; jfty;fs; cw;gj;jp nghUs; x cld; njhlu;GilaJ. 

 ghjplg;gl;l juTfs; cz;ikj;juTfs; 
tpw;gid myF  400myFfs; 420 
tpw;gid tpiy & 35/= & 34/= 
myFf;fhd fpuak;  & 32/= & 32/= 
 
gpd;tUtdtw;iw fzpf;Ff 

A. nkhj;j tpw;gid vy;iy Kuz; 

B. tpw;gid vy;iy tpiy Kuz; 

C. tpw;gid vy;iy fdtsT Kuz; 
 

tpil 

cz;ik tpw;gid vy;iy = myFf;fhd cz;ik vy;iy x cz;ikahd tpw;gid myFfs;   

                                                      = (34-32) x 420 

                                                      = &gh 840/= 
 

ghjplg;gl;l tpw;gidvy;iy  =  myFf;fhd ghjplg;gl;l vy;iy x ghjplg;gl;l tpw;gid myFfs; 

                                                           = (35-32) x 400 

                                                           = &gh 1,200/= 

 

(a) nkhj;j tpw;gid vy;iy Kuz;  = ghjplg;gl;l ,yhgk;  - cz;ikahd ,yhgk; 

                                                                   = 1,200 - 840 

                                                                   = &gh 360 (A) 

 

(b) tpw;gid vy;iy tpiy Kuz; =  cz;ikahd tpw;gid myF(epak vy;iy –cz;ik vy;iy) 

                                                        = 420 x [(35-35) – (34-32)] 

                                                        = &gh 420 (A) 
 
 
myFf;fhd cz;ikahd vy;iy (,yhgk;) ghjplg;gl;l myFf;fhd vy;iyia (,yhgk;) tpl 
Fiwthifahy; Kuz; ghjfkhf tUk;. 
 

(C)  tpw;gid vy;iy fdtsT Kuz;  

= ghjplg;gl;l or epak myFf;fhd ,yhgk; (ghjplg;gl;l tpw;gid myF – cz;ik tpw;gid myF)              

= (35-32) x (400-420) 

= &gh 60 (F) 
 
 
cz;ikahd tpw;gid myFfs; ghjplg;gl epak tpw;gid myif tpl mjpfkhFk; NghJ Kuz; rhjfkhd 
epiyia milAk;. 
 
nkhjj;j tpw;gid vy;iy Kuz; = tpw;gid vy;iy tpiy Kuz;  + tpw;gid vy;iy fdtsT Kuz; 
    =&420 (A + & 60 (F) 
    = &360 (A) 
 
 
 
 



tpdh 02 
gpd;tUk; jfty;fs; cw;gj;jp nghUs; Y cld; njhlu;GilaJ  

 
gpd;tUtdtw;iw fzpf;Ff 

(a) nkhj;j tpw;gid vy;iy Kuz;  

(b) tpw;gid vy;iy tpiy Kuz; 

(c) tpw;gid vy;iy fdtsT Kuz; 

 
tpil 

cz;ikahd tpw;gid vy;iy = myFf;fhd cz;ikahd vy;iy x  cz;ikahd tpw;gid myFfs; 

cz;ikahd tpw;gid vy;iy = (31 -26) x 1,350 

(cz;ikahd ,yhgk;)            = &gh 6,750/= 

 

ghjplg;gl;l tpw;gid vy;iy   = ghjplg;gl;l myFf;fhd vy;iy (,yhgk;) x  ghjplg;gl;l tpw;gid myFfs; 

ghjplg;gl;l tpw;gid vy;iy   = (32 - 26) x 1,500 

(ghjplg;gl;l ,yhgk;)               =  &gh 9,000/= 

 

(a) nkhj;j tpw;gid vy;iy Kuz;    = ghjplg;gl;l ,yhgk; - cz;ikahd ,yhgk; 

                                                     = &9,000 - &6,750 

                                                                   = &2,250 (A) 

(b) tpw;gid vy;iy tpiy Kuz; = cz;ikahd tpw;gid myFfs; (epak vy;iy – cz;ik vy;iy) 

                 = 1,350 x ((32 -26) – (31-26)) 

                 = &1,350 (A)  

 

(C) tpw;gid vy;iy fzpa Kuz;  

= myFf;fhd ghjplg;gl;l ,yhgk;   cz;ikahd; tpw;gid myFfs;  –  ghjplg;gl;l tpw;gid myFfs;    

= (32-26) x (1350-1500) 

 = & 900 (A) 
cz;ikahd tpw;gid myFfs; ghjplg;gl;l tpw;gid myFfis tpl Fiwthifahy; Kuz; ghjfkhf 
mikAk;. 

 

nkhj;j tpw;gid vy;iy Kuz;    = tpw;gid vy;iy tpiy Kuz;  + tpw;gid vy;iy fdtsT Kuz; 

                                                                   = &1,350 (A) + & 900 (A) 

                                                                   = &2,250 (A) 

Tpdh - 03 

gpd;tUk; jfty;fs; cw;gj;jpnghUs; D kw;Wk; G cld; njhlu;Gilait  

 ghjplg;gl;l 
juT  

 nkhj;j 
ghjplg;gl;l 
myFfs; 

cz;ikj;juTfs;  cz;ik 
myFfs; 

 D  G  D G  

tpw;gid (myF) 2,000 1,500 5,000 1,000 1,000 2,000 
tpw;gid tpiy (&gh) 50 55  49 60  
myFf;fhd fpuak;  40 40  41 50  
 

gpd;tUtdtw;iw fzpf;Ff 

(a) nkhj;j tpw;gid vy;iy Kuz; 

(b) nkhj;j tpw;gid vy;iy tpiy Kuz; 

(c) tpw;gid vy;iy fyit Kuz; 

(d) tpw;gid vy;iy fzpa Kuz; 

(e) nkhj;j tpw;gid vy;iy fdtsT Kuz; 

 

 ghjplg;gl;l juTfs;  cz;ikj;juTfs;  

tpw;gid myFfs;  1500 1350 
tpw;gid tpiy  &32 &31 
myFf;fhd fpuak;  &26 &26 



tpil 

cz;ikahd tpw;gid vy;iy or ,yhgk; = myFf;fhd cz;ik vy;iy x cz;ikahd tpw;gid myFfs; 

                                                                           D       = (49- 41) x1, 000 = &8,000 

 G         = (60-50) x 1,000 = &10,000 

 

ghjplg;gl;l tpw;gid vy;iy or ,yhgk;       = myFf;fhd ghjplg;gl;l vy;iy  x ghjplg;gl;l tpw;gid myFfs; 

  D        = (50- 40) x 2,000   = 20,000 

 G         = (55-40) x 1,500   = 22,500 

(a) nkhj;j tpw;gid vy;iy Kuz;      = ghjplg;gl;l ,yhgk; - cz;ikahd ,yhgk; 

 D         = 20,000 – 8,000     = &12,000(A) 

 G         = 22,500 – 10,000 = &12,500 (A) 

                   24,500 (A 
 

(b) nkhj;j tpw;gid vy;iy tpiy Kuz; = cz;ik tpw;gid  (epak vy;iy – cz;ikahd vy;iy ) 

                                    myF 

                                                                                     D     = 1,000 (10-8)       &2,000 (A) 

                                                                                     G     =   1,000 (15-10)   &5,000 (A) 

                                          & 7,000 (A) 

(c)  tpw;gid vy;iy fyit Kuz; =  epak vy;iy       cz;ikahd nkhj;j  - cz;ikahd nkhj;j 
                                        tpw;gid myFfs;     tpw;gid myFfs; 

                                                x                                          x 
                                           epak vy;iy        cz;ikfyit 

                                                                                   D    = 10(2,000 x 2,000/3,500- 2,000x 1,000/3,500) 
                                                                                          = 10 (1,430 -1,000) 
                                                                                                                                                                                           = &1,430 (A)  
 
                                                                                  G    = 15 (2,000 x 1,500/3,500 – 2,000 x 1,000/3,500) 
                                                                                         = 15 (857 – 1,000) 
                                                                                                                                                                                            = &2,145 (F) 
                  & 715(F) 

 

 

(d) tpw;gid vy;iy fzpa Kuz; = epak vy;iy nkhj;j epak     - nkhj;j cz;ik tpw;gid myFfs 
                                        tpw;gid myFfs; 
       x       x 
            epak fyit                  epak fyit 

  ; 
 
                                                                           D = 10(3,500 X 2,000/3,500 – 2,000 X 2,000/3,500) 
                                                                               = 10 (2,000 – 1,143) 
                                                                                                                                                                                = &8,570 (A) 
 
                                                                           G = 15 (3,500 x 1,500/3,500 – 2,000 x 1,500/3,500) 
                                                                              = 15 (1,500 – 857) 
                                                                                                                                                                                 = & 9,645 (A) 
                                                                                                                                                                                = &18,215 (A) 
 
(e) tpw;gid vy;iy fdtsT Kuz; = tpw;gid vy;iy +  tpw;gid vy;iy  
                               fyit Kuz;     fzpa Kuz; 

         = 715 (F) + 18,215 (A) 
                                                                          = & 17,500(A) 
 
/ nkhj;j tpw;gid vy;iy Kuz;  =  tpw;gid vy;iy + tpw;gid vy;iy 
                             tpiy Kuz;  fdtsT Kuz; 
 
                                                                        = 7,000 (A) + 17,500 (A) 
                                                                        = & 24,500 (A) 
 
 


